B¢

S P RO DUCTS

1T N E S

MARCY® PRO CIRCUIT TRAINER

PM-4510

IMPORTANT: Please read the Important Safety Notice and Assembly
Information in the Owner’s manual before assembling this product.

Assembly Manual
130301




O©IMPEX INC.  www.impex-fitness.com 1



O©IMPEX INC.  www.impex-fitness.com 2



OIMPEX INC.  www.impex-fitness.com




><1

OIMPEX INC.  www.impex-fitness.com

><8



M e e e e e

WL

-
i
| T
3

JIII)

0 1 2 3 4 S5 6 7 8 9 10 11 12 13 14 15 16 17 18

|||;|||||[|||||||||l|]|I|||II[f]I|||||]||I|I|||‘|||||||||I|]|||1[I||||]||I|Ii}]']l||||l||||l|||l|||||i|||||?|||‘1|||
0 1 2 3" 4 5 67 7

O©IMPEX INC.  www.impex-fitness.com 5



A

LI
=
i

==

—_—
—_—
—
=
]

&%__'
—
—

==

| Nzl
X8 ><8

0 1 e 3 4 S5 6 7 8 9 10 U 12 13 14 15 16 17 18
||||f||!||||||||1||||'i|r||||||r|||||||l||||||!|‘||l|l|nllll||||’I|||||I}l|l|||l||'|||||||u||||i1’l|l|||||n|||||||1|'r[
0 - 8' 3' 4, 5' ” -

O©IMPEX INC.  www.impex-fitness.com 6



5

@ Taaimn
(89)x2 |

é i
(86)x2

B7)x6 (BIx11  (90)x63

© (IDI
(@110 @x6  (99x41

| S#

| 68

cm

0 1 2 3 4 S 6 7 8 9 10 11 12 13 14 15 16 17 18

I|III|I|IEII||IlllIIIIIIIil|I|I{I|IlllI|[II|||I|1II!I|I|IIF|III|]|ll||I]I|IlllIIIII'I{I|I|1|I|I|I|I|III|1II!||||IJI|
] 2* 4 ’ 6"

0 1 3’ 7

O©IMPEX INC.  www.impex-fitness.com 7



©IMPEX INC.

www.impex-fitness.com




MI0 x 2 ¥
o 3

M10

n mn -n

©IMPEX INC.  www.impex-fitness.com 9



(F———mm it 5 >
e

® 3
M10

BEE

, |B©O©

O©IMPEX INC.  www.impex-fitness.com 10



@G

O©IMPEX INC.  www.impex-fitness.com 11



@ M2 x 3 ¥ 2

g 1" 4

M12 2
ﬂ ]

= i
.
" il . i

o o

00

O©IMPEX INC.  www.impex-fitness.com 12



@ MI0 x 2 ¥
MI0 x B

o 3

M10

0 O]

O©IMPEX INC.  www.impex-fitness.com 13



3

]

b PPPPPPP

©IMPEX INC.

www.impex-fitness.com

14




MID x 3 4
M10 x 1”
g 3

M10

W=

|

O©IMPEX INC.  www.impex-fitness.com 15



®EO

(0 O]

©IMPEX INC.

www.impex-fitness.com

16




10

26

@ ﬂ:m MIO x 3 &
© s 7
im) M10
D)
11
m&=

©IMPEX INC.

www.impex-fitness.com

17




@ [\ — % x 9§ 1
© 0 ¥ 2
D M10

@) P

LI

il

L.

1

O©IMPEX INC.  www.impex-fitness.com 18



MI0 x 2 3
@ MID x 2 &
@ M10

b : 15

o
o
L]
@ \ O *
g @ A\ . i N '|J'
Q .
| — ] 90
L) o =
/0 \ 93
5 0 L] 0, .
12
\
~
12

©IMPEX INC.  www.impex-fitness.com 19




@R

MI0 x 2 3

® 3

M10

i

13

OIMPEX INC.  www.impex-fitness.com

20




M10 x 17
? 3
M10

55)(93
3 L]
© L ®
09
o
() o =
- L] °
00 el ©
14
O©IMPEX INC.  www.impex-fitness.com 21




i——

M2 x 3 4
@ % 1
im M12
|
S|
. 13)(89) (92
S, .
14
% 74
(o
@, o A
)
5o o 23)(70)
15

OIMPEX INC.  www.impex-fitness.com

22




@ @ 1" 1
(53 i

Mi2 1

16

O©IMPEX INC.  www.impex-fitness.com 23



M8 x g 4
? g 4

©0
°f

=

o

17

O©IMPEX INC.  www.impex-fitness.com 24



M8 x 2 & e

© o ¥ 8

|

ﬂ‘n;

gq\ ' W5 d
e
o =1

18

O©IMPEX INC.  www.impex-fitness.com 25



M8 x 3*

M8 x &
? 3

00

19

13

0 O

O©IMPEX INC.  www.impex-fitness.com 26




I

 Tm

MIO x 1 3

M0 x 2”

20

OIMPEX INC.  www.impex-fitness.com

27




20-A

68D

OIMPEX INC.  www.impex-fitness.com




BRE®

[ T

MIO x 1 3 4 I

M10 x 2* 1

MIO x 3 3 1

©IMPEX INC.

www.impex-fitness.com

29



L4

©IMPEX INC.

www.impex-fitness.com

30




22

00

L1
|
o
o

©IMPEX INC.

www.impex-fitness.com

31




,ke

22-A

©IMPEX INC.

www.impex-fitness.com

32




23

O©IMPEX INC.  www.impex-fitness.com 33



34

www.impex-fitness.com

©IMPEX INC.



IMPEX® INC.

2801 S. Towne Ave. Pomona, CA 91766
Tel: (800) 999-8899
www.impex-fitness.com
info@impex-fitness.com

O©IMPEX INC.  www.impex-fitness.com 35



http://www.impex-fitness.com/

	IMPORTANT: Please read the Important Safety Notice and Assembly Information in the Owner’s manual before assembling this product.

